Haut du formulaire

Grille Niveau 2

	
	5
	
	3
	
	7
	
	4
	
	
	
	

	5
	+
	9
	:
	2
	x
	
	-
	5
	=
	37
	

	
	9
	:
	 
	x
	3
	-
	 
	+
	6
	=
	13

	9
	-
	   
	+   
	4
	:
	 
	x
	3
	=
	6
	

	
	 
	+
	7
	:
	 
	x
	4
	-
	9
	=
	11

	2
	:
	 
	x
	
	-
	4
	+
	2
	=
	6
	

	
	6
	-
	3
	+
	 
	:
	7
	x
	7
	=
	7

	8
	x
	2 
	-
	
	+
	2
	:
	 
	=
	2
	

	
	8
	x
	 
	-
	5
	+
	5
	:
	9
	=
	8

	
	=
	6
	=
	4
	=
	4
	=
	3
	
	
	

	
	8
	=
	15
	=
	8
	=
	3
	=
	
	
	

	
	
	18
	
	5
	
	6
	
	10
	
	
	


Ci dessous : solution de la grille  

	
	5
	
	3
	
	7
	
	4
	
	
	
	

	5
	+
	9
	:
	2
	x
	6
	-
	5
	=
	37
	

	
	9
	:
	3 
	x
	3
	-
	2 
	+
	6
	=
	13

	9
	-
	3   
	+   
	4
	:
	5 
	x
	3
	=
	6
	

	
	8 
	+
	7
	:
	3 
	x
	4
	-
	9
	=
	11

	2
	:
	2 
	x
	8
	-
	4
	+
	2
	=
	6
	

	
	6
	-
	3
	+
	4 
	:
	7
	x
	7
	=
	7

	8
	x
	2
	-
	8
	+
	2
	:
	5 
	=
	2
	

	
	8
	x
	9 
	-
	5
	+
	5
	:
	9
	=
	8

	
	=
	6
	=
	4
	=
	4
	=
	3
	
	
	

	
	8
	=
	15
	=
	8
	=
	3
	=
	
	
	

	
	
	18
	
	5
	
	6
	
	10
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